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XII-M1
First Mid Term Test - 2019

Standayd X1

MATHEMATICS Marks 50

Time: 1.30 hrs.
PART « A 10x1=210
Note: 1) Answer all the questions. ANBWOr, |
i) Choose and write the correct #

3 ' ' ‘ 1Y | o
1. H‘A-[“ O) and n.~[' A)Jhcnlnd_](/\!i)l
I35 2 0
c) ~60 d) =20

a) -40 b) =80
(6 0 -9)
0 280
2. Therankofthematrix |0 0 0 |18
0 0 0
a) 1 b) 3 02  d)4
2 3 ;
3. A =(5 2) be suchthat A~ = A » then A 18
a) 17 b) 14 ¢) 19 d) 21
| 3 |
4. If z——|= 2, then the least value of | z| 1s
|z
a) 1 b) 2 c)3 d) S

' ‘ T ..'T Jh
5. The product of all four values of (cos§+1sm—3—) 1S

a) -2 b) -1 c) 1 d) 2

6. A zeroof x> +8 is
a) 0 b) 2 )2 - d)-2
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X11-M1 , gx43 has
7. The polynomial X * » imaginary zeros
a) one negative an wo imaginary zeros
b) one positive an
¢) three real zeros

d) no zeros
a1 -l ,2,) isequal to
8. tan (Z)-‘Han (9
] 3
1 3 —sin”'[ =
2390 (3) o3[
c) itan"' (gj d) tan™ (—1—)
2 5 . ' 2

'1(%)= 0, thenthe value of ¢ps@ 18 |
1 13 ! 1 —
BN 579 ) 2

. |
10. The equation tan~' x—cot™ x =tan” (—) has
; . N

b) uhique solution

a) no solution
~ d) infinite number of solutions

.c) two solutions
 PART - B

Note: i) Answer any four questions.

4x2=8
ii) Question No.15 is compulsory. ' :

| 12 2
11. IfadjA=| 1 1 2| findA™\.
2 2 1 -

12. Find 27, if z=(2+3i) (1-i).

Scanned by CamScanner


http://www.padasalai.org/

www.Padasalai.Net a www.TrbTnpsc.com

x11-M1 : S5A

13. Solve:sinzx—Ssinx+4=,o
h -1 1 1 | =lt_
14. Prove that tan 5 + tan~ 273

15. Find the value of

| (1
) sm[—;—sm '(;H ) cOS[—Z'COS 1(5)]

PART - € 4x3=12
Note: i) Answer any four questions:
ii) Question No.20 is compulsory-

| 3 -85 2
16. Findtherarikof 2 -5 1 4
-1 2 3 =2

17. Show that (2+iv/3)'%—(2- lf)lolspurel}, imaginary.
18. Find the sum of squares of roots of the equation

2x* -8x +6x% -3 |
-1 ] -1
19. Find the value of tan™!(=1)+cos 1(2)+sm ( 5 J

o X _X=Y
20. Simplify: tan y tan 5 3
PART - D

Note: Answer all the questions. | 4x5=20
21. a) Determinethe values of ), for which the following system of

‘equation x +y+3z=0,4x+3y+Az=0,

2x+y+2z=0 has

i) aunique solution ii)anon-trivial solution

(OR) |
b) A boy is walking along the path ¥ = ax? +bx +c through

the points (-6,8), (—2,-12) and (3, 8). He wants to meet
his friendat P(7, 60). Will he meet his friend? (Use Gaussian
elimination method?
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4
arg 2_,.2) 2 then show that

S5A

22, a) If z=x+iy and
x2+y 2 p3x-3yt (OR)

b) Ifw=I 1sacubef0°wfu ity, show that
) (-0 2)6+(1+£0 ®%)0 =173
i (]+a))(1+ﬂ)2) (1+0 DI ) (4wt ) =1.

| 23. a) Solve the equation X 4_14x7 +45=0.

OR)

b) Ifp and qare the roots of the equation ¢x? +nx+n =0,

n
' ,P_q- /_C-l-+"—-=0
show that q p '

24. a) ff ay, 83,83, .- ..a, is an arithmetic progression with

common difference d, prove that
. ’ d -

tan tan-l ) +tan 1 SE—— 1 B
\1+aja; 1+a5aq

= d | a,-a
- tan I : = =_n__1—-
. 1+anan_1 ' 1+a1an

(OR)

b) Prove that tan~l x + tan"l y+ tan .

~1| X+y+z—-XyZ
l-xy-yz-2X

= tan
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